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QUESTION 1

The author of the passage suggests which of the following about bacteria? 

A. Bacteria feeds on lime. 

B. Bacteria is visible to the human eye. 

C. Bacteria is compact by nature. 

D. Bacteria is a plant, not an animal. 

Correct Answer: B 

 

QUESTION 2

Convert 0.125 into fraction form. 

A. 1/2 

B. 1/4 

C. 1/16 

D. 1/8 
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Correct Answer: D 

 

QUESTION 3

A rental tool company has the following inventory: 

25 chain saws, 14 snow blowers, 18 floor sanders, 12 leaf blowers and 19 power washers. 

If 25% of the total inventory is available for rental, how many tools can be rented? 

A. 22 

B. 20 

C. 66 

D. 44 

Correct Answer: A 

 

QUESTION 4

Select the meaning of the underlined word in the sentence. 

The girl hadn\\'t eaten properly for weeks; her cheekbones were nearly concave in shape. 

A. extended 

B. extinguished 

C. bowed inward 

D. bulging 

Correct Answer: C 

 

QUESTION 5

What are isotopes? 

A. Elements which have the same number of protons but a different number of neutrons. 

B. Elements with the same atomic number but different atomic mass numbers. 

C. Elements which have a different number of protons than electrons. 

D. Both A and B are correct. 

Correct Answer: D 
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